Education Consultant India Ltd.

Notations:

1.0ptions shown in green color and with v icon are correct.
2.0ptions shown in red color and with = icon are incorrect.

Question Paper Name: MATRON FEMALE Shift 2
Subject Name: MATRON FEMALE
Creation Date: 2019-03-29 15:50:10
Duration: 120
Total Marks: 200
Display Marks: Yes
Share Answer Key With Delivery Yes
Engine
Actual Answer Key: Yes
Calculator: None
Magnifying Glass Required?: No
Ruler Required?: No
Eraser Required?: No
Scratch Pad Required?: No
Rough Sketch/Notepad Required?: No
Protractor Required?: No
Show Watermark on Console?: Yes
Highlighter: No
Auto Save on Console?: No
Mental Ability1
Group Number : 1
Group Id : 4028175
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability1
Section Id : 40281721

Section Number : 1



Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 40281721
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 402817401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the term that is related to the third term in the same way as the second term is related to the first term.

Cashier : Bank : : Curator : ?
Options:

1. v Museum

? % Restaurant

3 % Hospital

4. » Laboratory

Question Number : 1 Question Id : 402817401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

38 98 & 9495 HL A JE 98§ 8% 3 g §EUd § O TR g8 98 Ee 9% ¥ §EA gl

HRAW ¢ FF 1 FYE 1 ?
Options:

FT=OH

1. v 7%

2. » W



Question Number : 2 Question Id : 402817402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the number that is related to the third number in the same way as the second number is related to the first number.

T2: 16 50627
Options:
1. = 45

2.« 32
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|t
=

Question Number : 2 Question Id : 402817402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 3% F A4S F{ A A HP & S 38T g FaOd g 57 THR gE I7F Tgd Hh § gErad gl

o Ml R
Options:

1. = 45

. o 32



Question Number : 3 Question Id : 402817403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the term that is related to the third term in the same way as the second term is related to the first term.

MARCH : ODVHN : : APRIL : ?
Options:
1. » TSHQF

i

2 % SPDLZ

i

3 % ISKGY

4. v CSVNR

Question Number : 3 Question Id : 402817403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 Ug & TUA F S AW 98 F e FH aRg Hafod § O 9N gE ug vEel 98 # HelOd g

MARCH : ODVHN : : APRIL : ?
Options:

1. = TSHQF

2 % SPDLZ



3. % ISKGY

4. + CSVNR

Question Number : 4 Question Id : 402817404 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pick the odd one out.
Options:

1. « WD

2.5 U

3. % PK

4, v SE

Question Number : 4 Question |d : 402817404 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fefof@a & ¥ fww =41
Options:

1. = WD

2. = QJ



4. v SE

Question Number : 5 Question Id : 402817405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pick the odd one out.
Options:

1. & Feeble

? « Robust

3 x Fragile

4 = Delicate

Question Number : 5 Question Id : 402817405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafafem & & fawsw ==
Options:
1. « Feeble

7.« Robust

3« Fragile

4. » Delicate

Question Number : 6 Question |d : 402817406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Pick the odd one out.
Options:

1. & Uttar Pradesh

? # Assam

3  Puducherry

4. % Kerala

Question Number : 6 Question Id : 402817406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fefof@a & ¥ fww =41
Options:

1. = 3cal 9

? 9w HOH

3. ¥ RN

A« Fe

Question Number : 7 Question Id : 402817407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the Venn diagram that best represents the relationship among the given set of classes.

Mammals. Birds. Fish
Options:



1. »
e
3. «

LS

Question Number : 7 Question Id : 402817407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 3 HR@ H TIF B A GF T T F FHTIT F G I FE@ 0T AE U g

9T, 9&f, AT

Options:




S

Question Number : 8 Question Id : 402817408 Question Type
Correct Marks: 1 Wrong Marks: 0.25

is rotated to

ag N\ is rotated to ?
Options:

: MCQ Option Shuffling: Yes



Question Number : 8 Question Id : 402817408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Oe0/—

FATIT ST B

34T TiE &I EATHT F1 T ?

Options:



Question Number : 9 Question Id : 402817409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which shape will be formed if the two given shapes are combined?

\\‘\ ..-'" r\-\""‘\ H‘m
P a
() ({ K“.v“:f
\ E;’ /
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Options:




Question Number : 9 Question Id : 402817409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

It & TwiT & ApiaaT F guEd AE T S g, a8 FiF @ g s9ee

Options:



Question Number : 10 Question Id : 402817410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A recruitment firm has determined the following criteria for selection for a job. The candidate must have obtained at

least 85% marks in Class 12 and graduation. She must be 30-45 years of age as on 12 March 2019. The person should
have a diploma certificate in a particular course as a regular student. She should clear four rounds of group discussion
(GD) before the interview.

The details of Clara, a candidate, are given below. She was not selected for the job. Due to which of the following
reason/s was she NOT selected for the job?

(1) She cleared the first two GD rounds but did not make it past the third round.

(ii)  She joined that particular course on 4 April 2004 as a distant education student.

(iii)  She scored 85% marks in Class 12 and completed her graduation in 2016 with 82.2% marks.

(iv)  She was born on 10 January 1980.

Options:
1. = (). (iD)

2w (i), (iii)

3 (D). (i), (iii)

4. = (D), (iv)

Question Number : 10 Question Id : 402817410 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

vs st (Repedie) w3 & Al © Pgfa & v ffele awes Fuife e & st & Far
12 & 3 T+ # FH ¥ FH 85% He Wed gl Tfewl 12 AT 2019 Ht 3@ 317G 30-45 a9 Fiar
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ve et For & fFEver A= R wmar 1 97 Alwd F Rw ad g ow o) R A a ea @
FROT H I ¥ 7 Al & e 7@ o 7157
(i) 3T FEr F gg &Y T3S 39T T o dfdhe 8y U3 T 30T JE7 9 IS
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(iii) 3% FH&T 12 & F 85% 37 Wt &0 & HIT 2016 F 82.2% 37! & WY TGS I Ig5 T
Fr ot
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Options:
1. = (), (i)
2w (i), (i)

3. (), (i), (i)

4, « (i), (iv)

Question Number : 11 Question Id : 402817411 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The bar graph given below shows the sales of three newspapers in a city during three consecutive years 2015, 2016 and
2017. Which newspapers, according to the given graph, had the highest and the lowest sales in 20177
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Options:



1. « NP2 and NP3 respectively

2 % NP1 and NP3 respectively

3 u NP2and NPI respectively

4. » NP3 and NP1 respectively

Question Number : 11 Question Id : 402817411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= & T 9w I AR e 3ut 2015, 2016 36T 2017 & @ v @Y # 99 §HER 957 &T
fardhr &r gefar 81 Rw o0 % & e, 201?ﬁaﬂa®m#ﬁﬁrmaﬁmaﬁtmm§é
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Options:

1. » @A NP2 3T NP3

2 x AT NP1 AR NP3

3. % HHT NP2 3T NP1



4. = FFT: NP3 3T NP1

Question Number : 12 Question Id : 402817412 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Given below is a piece of paper that has been folded twice as shown in the first two figures. Then the folded paper is cut
as shown in the third figure. How will the paper appear when it is unfolded?
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1. v -
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7 % oo
2" &7
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‘ ooon
3 % Lot

Question Number : 12 Question Id : 402817412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 13 Question Id : 402817413 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the correct water image of the given word.

SOMERSAULT
Options:

2OWN3H2YNTT
1. =

LINVEENO2
2. %

cOWEE2VNTL
3.«



ITNV2E3N02

4 =

Question Number : 13 Question Id : 402817413 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

e & e & forw v s B T4

SOMERSAULT
Options:
i e0OWN3B2VNIT

LINY2BENO?2
s U

20NEK2YNTL
3. ¢

IrNY2E3N02
4, =

Question Number : 14 Question Id : 402817414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Count the number of triangles in the figure below.

N

Options:
1. w 12

? % 14



3'\,? 16

18

e
%

Question Number : 14 Question Id : 402817414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A= & T ampfa & feet fr = A Hifw

N

Options:

T. w 2
2 = 14
3. v 16
4 = 18

Question Number : 15 Question Id : 402817415 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

D has only one child G. B marries G and has a daughter C. E is the brother of B and the uncle of C. A is the grandson of
D. How is E related to A?

Options:
1. = Sister

? % Brother



3. « Uncle

4 = Cousin

Question Number : 15 Question Id : 402817415 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

G, D %1 THATT Fou g1 B 7 f¥aE G ¥ g3 ¢ AR IWH TH 9 C I E, B H A5 P HX C F
IIE/ATAT 81 A, D &7 911 &1 E &7 A & 7 Ha9 &7
Options:

1. & 9éd

2, » WX

4, » THUEAT TES; TRURST A%

Question Number : 16 Question Id : 402817416 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The only son-in-law of Y’s maternal grandmother has three sisters O, E and R. S got married to O and has a daughter Q.
How is Q related to Y?

Options:

1. ® Niece
? =% Wife

3 » Granddaughter



4. « Cousin

Question Number : 16 Question Id : 402817416 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Y & A % gehelld SEE T Al 984 O, E IR R €1 S # {59 O § g3 @ AR I+ wh 97 Q
g1 Q FT Y FaT HIT g7

Options:

1. « &t
2w Slcel
3w Oar

4. » THAEAT @S

Question Number : 17 Question Id : 402817417 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

The sister of Z’s uncle is the only daughter of F. How is Z related to F?
Options:
1. + Grandchild

9 % Sibling

Step-aunt

-
%

Grandparent

e
%

Question Number : 17 Question Id : 402817417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Z % =mar Fr 98 F Fr swHeldr 9 g1 Z 7T F & 37 gey 27

Options:

1. » cramr

2w HIS/EEA

3. x T AR (Step-aunt)

A. » CIEIETEr

Question Number : 18 Question Id : 402817418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An examinee must score 55% marks to pass an entrance exam. He scored 184 marks and failed to pass the exam. Had
he scored 146 more marks he would have got the passing 55% marks. What were the maximum marks?

Options:
1. & 300

? & 600

Question Number : 18 Question Id : 402817418 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

e giremelt Fr g oitem F 3307 8% & T 55% 37 9T gl Tevl 3 184 e urtg v i
BT 3edior T H TP @1 I 38 146 3 HO% greg e giF ar 98 55% 3T ¥ Icaror
gl 9T F 3 3 Faw 272

Options:



1. & 300

2. » 600
3 = 450
4. % 550

Question Number : 19 Question Id : 402817419 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

In a science class of 10 students. the teacher asked each student to pair with another student exactly once. They are
allowed to change partners only after a week. After how many weeks can no more new groups be formed in the class?

Options:
1. v 45

2w 27

A % 100

Question Number : 19 Question Id : 402817419 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

10 SrET Fr A Far #, BT F 93 oOF # UF ¥ OF & 91y JE 59 F o Fa 37
BT T T DI HFATT Tk FoAIg & G &1 g| HET H fohedel Halg & a1 AN AT FHE Al aof
T &7

Options:

1. v 45



4. = 100

Question Number : 20 Question Id : 402817420 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

Sonali made 88 kg of lentil soup for an NGO. The ratio of soup to water was 7 : 1, so that every child could get a share.
More water was later on added making the ratio 7 : 3. How much water was added afterwards?

Options:

N

%
&5
o
o

g

Question Number : 20 Question Id : 402817420 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

AT o Tk TeA=ial & T 88 farellans arel &1 §9 S 1| T & I+ & 3o 7 @ 1 o, e
TeF T2 H 3H ferar e w1 A AR 9 e & 91 seera 7 - 3 @ Sar g e H e
qrer e T 27

Options:

1 x 12 kg

2. v 22kg



3 % 34 kg

4 % 46 kg
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Question Number : 21 Question Id : 402817421 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25
Pick the odd one out.

Options:

1. # Incisors



? % Canines
3. ® Molars

4. « Dentine

Question Number : 21 Question Id : 402817421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafafee & & fawsw 3=
Options:

1. = Incisors

7 x Canines

3.« Molars

4. « Dentine

Question Number : 22 Question Id : 402817422 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Pick the odd one out.
Options:

1. # Wimbledon

? % TheUS Open

3  UEFA Champions League



4. % Australian Open

Question Number : 22 Question Id : 402817422 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

fefof@a & ¥ foww =41
Options:
1. « Reoss

2k & LT

9 o JZUHRT =HOTH T

[N

4w HEToEe e

Question Number : 23 Question Id : 402817423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the term that will replace (?7) in the following series.

7, 14,98, 5,12, 00, 8,7, 112
Options:

2. w11
3. v 14

4.% 2



Question Number : 23 Question Id : 402817423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IF IS F TIS FE, FT eSS HTET F (?) FT FAH S

7; 14,98 5 12, 60, 8, 7, 112

Options:

T. = 1B
2w H
3. v 14
4 = 22

Question Number : 24 Question Id : 402817424 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the term that will replace (7) in the following series.

VW ERX ?2Y.IZILF
Options:

1. N

4 & W

Question Number : 24 Question Id : 402817424 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



3H UE & TAF F, Al HFAOHAT ST H (?) F TUH &

VW R X2 Y, d &4 F

Options:

1. ¥ N
2. w P
3w T
4, = W

Question Number : 25 Question Id : 402817425 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the term that will replace (?) in the following series.

64, 71, 853, 2, 134, 169, 211
Options:
1. = 91

2 & 106

A % 108

Question Number : 25 Question Id : 402817425 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



3H UE & TAF F, Al HFAOHAT ST H (?) F TUH &

64, 71, 85, 7, 134, 169, 211

Options:

1. = 91
2. v 106
3. = 97
4. = 108

Question Number : 26 Question Id : 402817426 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the term that is related to the third term in the same way as the second term is related to the first term.

Shoe : Cobbler : : Eye : ?
Options:
1. « ©Ophthalmologist

? w Orthopaedician

3 » Neurosurgeon

4 % Orthodontist

Question Number : 26 Question Id : 402817426 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



36 9% F 989 H S I % T & 3 oRE Fe § O 99K gEa 9% TEe 9% & Fefed g

ST AR AT ?
Options:

1. v HugreEeEes

2_%%@'@3?

Question Number : 27 Question Id : 402817427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the term that is related to the third term in the same way as the second term relates to the first term.

MORON : NQUSS : : HUNGER.: ?
Options:
1. & IMRVIT

? % IWPKIW

9 o IWQKIX

4. % JXRLKY

Question Number : 27 Question Id : 402817427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



36 9% F 989 H S I % T & 3 oRE Fe § O 99K gEa 9% TEe 9% & Fefed g

MORON : NQUSS : : HUNGER : ?

Options:

1. % IMRVTT
2 % IWPKIW
3. v IWQKJX
4. % JXRLKY

Question Number : 28 Question Id : 402817428 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Pick the odd one out.
Options:

1. v XB

VE

-2
#

UF

>
%

OL

e
%

Question Number : 28 Question Id : 402817428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fefof@a & ¥ fww =41

Options:



2. » VE
3 = UF
4 = OL

Question Number : 29 Question Id : 402817429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pick the odd one out.
Options:

1. # Screwdriver
? « Rake

3 x Spanner

4] % Hammer

Question Number : 29 Question Id : 402817429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafafee & & fawsw 3=
Options:

1. = Y==8



Question Number : 30 Question Id : 402817430 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the Venn diagram that best represents the relationship among the given set of classes.

Fruit, Mango, Food

Options:
1.«

&)
2, ®
3. =
4, = @

Question Number : 30 Question Id : 402817430 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



3 A G H TS H S GF T T F FHAT F I T FEH 70! aN@ qTe ¢

el, 3TH, HISa

Options:

1. ¢

O |®

&

Question Number : 31 Question Id : 402817431 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the given pie chart, how many willow trees exist in XYZ village if the total number of trees in the village
is 200 lakh.

VARFETIES OF TREES IN XYI VILLAGE
IN 1018

Options:

1. & 50 lakh



? % 16 lakh

3. % 40 lakh

4 « 70 lakh

Question Number : 31 Question Id : 402817431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few a0 91 =€ & AR, XYZ T # e B (Willow) F 3e7 Hisg € 3fg =g &7 For 931 &
&I 200 9T §

VARIETIES OF TREES IN XYZ VILLAGE
IN 2088

Avocado, 20%
Willow
—_—d
Cotonut Palm,
8%
Dawn Redwood,
5%
Options:

1. = 50 & F

2. = 16 o9&

4. « 70 d@F

Question Number : 32 Question Id : 402817432 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



Identify the correct mirror image of the given text when the mirror is placed to its right side.

ROB3RTFROSI1

Options:

1. » T20A4TAIE0A
7« AOG3ATAAOCT
2 % AOCQEATIAAOZL

4 v [20A9TAESO0A

Question Number : 32 Question Id : 402817432 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

IS U0 F B T g F % AR @ AT §, I9 FFeqr ¥ e av g Fr wEr g9vr ofy =
EESIE

ROB3RTFROST

Options:

: T2OAATA3IE0A
2 % AO083IATAAOT

3 AO8EATAAOZL




4. o I20A9TAEAOA

Question Number : 33 Question Id : 402817433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Count the number of triangles in the figure below.

Options:

1.« 23

? = 28

Question Number : 33 Question Id : 402817433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A &r Iy apfa & fet #r gEwm J9 Hfw)

Options:

1. v 23

2. ® 28



Question Number : 34 Question Id : 402817434 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

O has a brother X. S is the nephew of O. X married N who is the twin sister of R. R and N are the only children of their
parents. M and S are twin biological sons of R and L. How is L related to X in the nearest manner?

Options:

1. ® Maternal Uncle

? % Brother-in-law

3. « Brother

4 = Cousin

Question Number : 34 Question Id : 402817434 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

O & T &g X 81 S, O F7 o7l g1 X &7 faarg N & g3 8 =1 R &7 351 981 81 R 3N, 30
Arar-far & Faer & & s=+ g1 M 3R S, R 3R L & 351 A3 99 §1 L & X ¥ fwean ols @
Options:

1. % HHAVEEN



A« TEUART S

Question Number : 35 Question Id : 402817435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

M is the grandmother of Z and the aunt of C’s father E. How is C related to Z?
Options:

1. «# Cousin
? % Nephew
3 % Aunt

4. Husband

&

Question Number : 35 Question Id : 402817435 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

M, ZF T TR CF NI EFR I=TE Z & C T FI7 Ty 872

Options:

1 o TH0AEAY §g; THWHRT o9

2. w #HASASET

3. w FARN/ATAT

Question Number : 36 Question Id : 402817436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In a group of 20 boys and 28 girls, the average age of boys and girls is 15 years and 13 years, respectively. What is the
average age of the whole group?

Options:
1. « 13.83 vears

7 % 11.50 years

3« 13.02years

4. w» l4years

Question Number : 36 Question Id : 402817436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

20 #EH 3 28 FEfRAT & TF WAE A, T AR FsfERAr T HEa g FA 15 I A 13 99 F
W THE #r Ea g e 87

Options:

1. v 1383 a9

2 % 1150 3%

3 % 13.02 Iy

4. = 14 a¥

Question Number : 37 Question Id : 402817437 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Raman distributed I7.800 among his three emplovees A, B, C in such a way that one-fourth of A’s share, one-fifth of
B’s share and one-sixth of C’s share are equal. What is B's share?

Options:



1. = <1,300

2 x 32,100

3 o 2,600

4. = T3.900

Question Number : 37 Question Id : 402817437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF F {99 dF SR A, B, C F €19 $7.800 37 g ¥ Tunfom 50 &5 A & e 1 =t
ST B & TR F7 ur=ar o # C & BTy # Tor 9T sue? € B & frrmr Bhaer 27

Options:

1 31,300
2 & 2,100
3 » 2,600
4 = 73,900

Question Number : 38 Question Id : 402817438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pick the odd one out.
Options:

1. # Brasilia



? % Canberra

3. ® Kabul

4 « CostaRica

Question Number : 38 Question Id : 402817438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafafee & & fawsw 3=
Options:
1. = sTEfeEr

2_%%3’“

3_%@
4&%%

Question Number : 39 Question Id : 402817439 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the term that will replace (?) in the following series.

32,7, 738, 2214
Options:
1. = 104

2 % 264



278

>
%

A » 246

Question Number : 39 Question Id : 402817439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3F UE & TAS F, Al SFAAT ST H (?) F TAH o

82, 7, 738, 2214

Options:
1. » 104
5« 264
3§ 298
4. » 246

Question Number : 40 Question Id : 402817440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the term that will come next in the following series.

16,43, 17, 35, 18,68, 19, ?
Options:

1'\-,? 32



Question Number : 40 Question Id : 402817440 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

3H UC F TIS FL, A eSS ST H 3T g

16, 43, 17, 55, 18, 68, 19, ?

Options:
1. » 82
2 = 78
3 = 86
4 = 92

General Awarenessl
Group Number : 3
Group Id: 4028177
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Awarenessl

Section Id : 40281723
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 40281723
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 402817441 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following logos does NOT provide consumers with assurance of quality?
Options:
1. = ISI

2 w Agmark

Hallmark

&

3.

4 Watermark

Question Number : 41 Question Id : 402817441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FPrafefa & § Fia T 9 R (S SIsNFAH FT I UEeAr F A TE G AT 87
Options:

1. = 3TS.TH.3TS

2 % TUIHTF



Question Number : 42 Question Id : 402817442 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which key feature is NOT used to compare countries in the Human Development Report published by UNDP (United
Nations Development Programme)?

Options:
1. = Educational level of the people

? # Health status

3  GDP growth rate

/] % Per capita income

Question Number : 42 Question Id : 402817442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TUASTT (FIFA TSF R FHIUHHA) SaRT THd AAd e WO # a8 97@ [evar &1 5937
mﬁﬁmm#ﬁvaﬁ%mm%"

Options:

1. & Soar #1 AfdF T



4. = Ui =g 7T

Question Number : 43 Question Id : 402817443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the full form of DBT?
Options:

1. & Direct Bank Transfer
? % Direct Balance Transfer
3. « Direct Benefit Transfer

4 % Direct Benefit Transaction

Question Number : 43 Question Id : 402817443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A F T BEER = e
Options:
1« ZOEE 3% TEW

2 x SEE d9H TEW

3 o IEE dAfhe THEWT

4. « SO SAfhe g

Question Number : 44 Question Id : 402817444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



revolves around goods produced from agriculture, dairy, fishing and forestry.
Options:
1. » Secondary sector

2 4 Pl'llllal'}f Sector

3 x Tertiary sector

A = All the sectors

Question Number : 44 Question Id : 402817444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=3, Aoy O ﬁmﬁﬁqﬁﬁaﬁaﬁﬁﬂﬁgmﬁl
Options:

1« CSacTE &

2_5»_,/# raiHE &89

Question Number : 45 Question Id : 402817445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In India. which organisation issues currency notes on behalf of the central government?
Options:
1. & State Bank of India



? « Reserve Bank of India

Finance Ministry

b

3.

4 NITT Aayog

:

Question Number : 45 Question Id : 402817445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RA H, P W FEAT FF TFER H AN F FqH Al AT HA 87
Options:

1. = #RdE BT I

= +*
3.« Tdcd HATGE

4. w» o (NITI) 3T

Question Number : 46 Question Id : 402817446 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Professor Muhammad Yunus, the founder of Grameen Bank, hails from which country?
Options:
1. # India

? . Bangladesh



3. % Pakistan

4], » Malaysia

Question Number : 46 Question Id : 402817446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT e F TEAIS NHE HgFAe I8 a o 33 27
Options:

1. = #AG

Question Number : 47 Question Id : 402817447 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which international body establishes rules regarding international trade?
Options:
1. « IMF

2. % UN

8

o
b
0
-\.I_\_i



A ¢ WTO

Question Number : 47 Question Id : 402817447 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

HOUSET U9 & TaY H Hid T FRery Hog Faa wnfig w=ar 82

Options:

1 « IBUATE

5, w W
3w G-7
4 o FegEns

Question Number : 48 Question Id : 402817448 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In which vear was the Rio de Janeiro Earth Summit held?
Options:
1. « 1992

1995

4.

&

Question Number : 48 Question Id : 402817448 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



Rt & s g2 Rew aeew e av smafaa e @ ar?

Options:

1. » 1992
2 = 1887
A & 'foys
4 % 1995

Question Number : 49 Question Id : 402817449 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following states is the medicinal plant, Himalayan Yew, found?
Options:

1. # Jammu and Kashmir

? « Arunachal Pradesh
3 » Manipur

4. » Meghalaya

Question Number : 49 Question Id : 402817449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafo@a # ¥ Fw usg &7 3itwefig otur, fFATeoa @g@er (Himalayan Yew) 9mar Smar g7
Options:
1 T T FER



3_3@ =
4. x AU

Question Number : 50 Question Id : 402817450 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Snake boat race is a traditional event of which of the following states?
Options:
1. # Goa

2 Odisha

&

Jammu and Kashmir

3.

®

4 « Kerala

Question Number : 50 Question Id : 402817450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T+ a9 @ FEaeed § ¥ 559 150 & 99 gaarfar 87

Options:



3y T T FRAR

4, v

Question Number : 51 Question Id : 402817451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the percentage of fresh water available in the total volume of the world’s water resources?
Options:
1. = 97.5%

P @ 2.5%
3 % 0.5%
4 % 2.1%

Question Number : 51 Question Id : 402817451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

W 2T & I FEEAT $ FoT A F G 9= F g GFhaar g2

Options:

1. = 97.5%

2. ¢ 25%

3. % 0.5%



4. % 2.1%

Question Number : 52 Question Id : 402817452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Kuchipudi is a famous dance form of which state?
Options:
1. v Andhra Pradesh

? % Odisha

Manipur

-
%

4 = Kerala

Question Number : 52 Question Id : 402817452 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T 5w T=a @1 9fEE a0 &7

Options:

1. » 3T 93

2 % NfEer

Question Number : 53 Question Id : 402817453 Question Type: MCQ Option Shuffling : Yes



Correct Marks: 1 Wrong Marks: 0.25
Who was imprisoned for opposing the apartheid regime in his countrv?

Options:
1. ® Mahatma Gandhi

? % Martin Luther King, Jr.

3 Nelson Mandela

4. » Mao Zedong

Question Number : 53 Question Id : 402817453 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

IS 3 H TS (apartheid) 28 & &0y = & B0 &g e GFar ar o

Options:

1. » @AY el

5 . FTeA TR fR SR

3 ¢ Jogd Aol
A w FTH FASTAT

Question Number : 54 Question Id : 402817454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the head of the Congress leaders that drafted a Constitution of India in 19287
Options:
1. # Vallabhbhai Patel



? % Subhash Chandra Bose
3. % Jawaharlal Nehru

A« Motilal Nehru

Question Number : 54 Question Id : 402817454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1928 F ¥R TAUH & FHE GUR FI AT FET AT3HT FT THT Hied oqT?

Options:

1« ToosTds 9o

5, » TEEEEEE

3 x STEELETA g

4, v FIHES AE®

Question Number : 55 Question Id : 402817455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When did the Constituent Assembly of India adopt the Constitution of India?
Options:
1. # 26 December 1949

? % 26 January 1950



3. « 26 November 1949

4. % 22February 1949

Question Number : 55 Question Id : 402817455 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

9T #r U T F RS @feuT F Y WIS or?

Options:

1. » 26 f&wFsT 1949

2 % 26 AT 1950

3 o 26 7T 1949

4 % 22 wEl 1949

Question Number : 56 Question Id : 402817456 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following leaders published the magazine *Young India’?
Options:
1. # Subhash Chandra Bose

? % Jawaharlal Nehru

3 » Bal Gangadhar Tilak

4. « Mahatma Gandhi



Question Number : 56 Question Id : 402817456 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Trafaf@a aaet 7 o G g sfEar oy & genee Gar ar

Options:

5 EW?EE;W

2 ORI AEE

3« & MR S

4. » FECHAT e

Question Number : 57 Question Id : 402817457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options is NOT a part of The Preamble to the Constitution of India?
Options:
1. » Fraternity

2 % Equality

3 u Liberty

4. » Morality

Question Number : 57 Question Id : 402817457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T # ¥ #iF a TFey aaT gfeus $r gear=ar & Te=mr 767 87

Options:




Question Number : 58 Question Id : 402817458 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a minimum condition of a democratic election?
Options:
1. » Everyone should have one vote.

? % Elections must be held regularly.

3. # Elections should be free and fair.

» Only those above the age of 21 years can vote.
4 h £ y

Question Number : 58 Question Id : 402817458 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

frafof@a & @ Fia & Seai¥s o= $ ve ~gFaH o0 F@l 22

Options:

1« 9cde & UTH aol Ueh A g1 AMgT|




5 94 A ¥ F g e

3 5 T a3 Acger g =nfgo)

4 o 2 T ¥ e HY F Jed & Ade X THd 2l

Question Number : 59 Question Id : 402817459 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the number of Lok Sabha constituencies in Maharashtra?
Options:

1. = 42

2. v 48

Question Number : 59 Question Id : 402817459 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

mERTSE H dehae et e fr gwar e 22
Options:

1. = 42

2. o 48



Question Number : 60 Question Id : 402817460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is the supreme commander of the Indian Armed Forces?
Options:
1. % The Prime Minister of India

2 % The Chief of Indian Army Staff

3« The President of India

4 % The Defense Minister of India

Question Number : 60 Question Id : 402817460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST TWATET 97 FT Fai=a FHET FiT 29 27

Options:

1. % #RT & JUFHAT

2 % HART F UTHAT HTET

3. » R F Tegafd



A x HTT F TETHS
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Edit Attended Group? :
Break time:
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20

20
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Question Number : 61 Question Id : 402817461 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

International Day of Yoga is observed on:

Options:

1. « 21 June

2 w 5 September



3 % 19 August

4. % 1 December

Question Number : 61 Question Id : 402817461 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

HRTET TeT aw &9 J91r F1ar 872

Options:
{, a St
2 w b5 fgsT

4, = 1fe@st

Question Number : 62 Question Id : 402817462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tashkent is the capital of which of the following countries?
Options:
1. = Kyrgyzstan

2 % Tajikistan

3. # Turkmenistan

4 Uzbekistan



Question Number : 62 Question Id : 402817462 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

arerere Ffaf@a & @ &g g Hr g 22

Options:

1_%%1?131%1?

2w OTSITeREdT

™

L S
ener lel il

oo
%
ral

Question Number : 63 Question Id : 402817463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following cities is the World Health Organization’s (WHO) headquarters?
Options:

1. + Geneva
? % Paris
3 % Washington DC

4 % London

Question Number : 63 Question Id : 402817463 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

fred FarET WeeA (WHO) & Fearew eaforad # 8 fFe ot § g 82

Options:




3.« SIRETET &

Question Number : 64 Question Id : 402817464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From which country does UN General Secretary Antonio Guterres hail?
Options:
1. # Brazil

2 » Portugal
3 x Spain

4 % Mexico

Question Number : 64 Question Id : 402817464 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

FIFT T5¢ AFTaT TSIAar T fFm o & anmier 82
Options:

1. = S



Question Number : 65 Question Id : 402817465 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

As of March 2019, who is the chief economist of International Monetary Fund (IMF)?
Options:
1. % IndraNooyi

2 . Gita Gopinath
3 » Raghuram Rajan

4. » Christine Lagarde

Question Number : 65 Question Id : 402817465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 2019 T, AL HAT HIV (AETATH) F HET 3NAET i &2

Options:

1, » W

2 AT TN



3. % {E_J'{IH LTl

4. » Ed= oems

Question Number : 66 Question Id : 402817466 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Mithali Raj is associated with which sport?
Options:

1. % Tennis

Wrestling

2

&

3. % Badminton

4 « Cricket

Question Number : 66 Question Id : 402817466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frare 7= w9 w95

Options:

1. » =8



Question Number : 67 Question Id : 402817467 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

OPEC (Organization of the Petroleum Exporting Countries), an intergovernmental organisation of 14 nations, was
founded in the year:

Options:
1. v 1960

1954

/el

&

(a2
g

% 1949

1963

e
%

Question Number : 67 Question Id : 402817467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

W (FfeaH Taas geff & T9as), 14 32 &1 Us 3eaueasT H9Ta, Fa TAod &ar ar o

Options:

1. « 1960
2. = 1954
3. = 1949
4. = 1963

Question Number : 68 Question Id : 402817468 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
The World Economic Forum, which was founded in 1971. is located in:

Options:
1. & Kiev

? % Madrid

3. % Paris

4. « Geneva

Question Number : 68 Question Id : 402817468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feT 3l A=, fomsdr suwar 1971 & & 78 off, Fer &g 87

Options:

Question Number : 69 Question Id : 402817469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Lesotho is surrounded by which of the following countries?
Options:
1. v South Africa



2 x Angola
3 % Libya

4] % Gabon

Question Number : 69 Question Id : 402817469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST PeAtaRE A ¥ e av ¥ A g 7

Options:

1. » G807 37hrET

2 % 3T
3. % oear
4. = FTEI

Question Number : 70 Question Id : 402817470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the best extinguisher of fires involving electrical equipment?
Options:
1. » Oxygen

? % Sand



3. = Water

/. « Carbon Dioxide

Question Number : 70 Question Id : 402817470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafof@a & @ #ia @1 Regg 39907 § Jod HET g5 aTe §ad =0T HEAUHS 872
Options:

1. = 3deT

2. = W

4 o A SEIHEEES

Question Number : 71 Question Id : 402817471 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Acid rain is a form of precipitation with acidic components of:
Options:
1. % oxides of sulphur

? x oxides of nitrogen

3 oxides of sulphur and nitrogen



4. w hitrogen and magnesium

Question Number : 71 Question Id : 402817471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HET uT AT # ¥ FES 37T USHT & TIY gl Jreir I9T F7 TF §9 g7

Options:

1. = B AFASS

D x ATESIS FHES

3 o Tew R AT F FFAss

A x TEESA IR FEAREH

Question Number : 72 Question Id : 402817472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which state is the Pachmarhi Biosphere Reserve located?
Options:
1. & Uttar Pradesh

2 » Madhya Pradesh

3. ® Maharashtra

Gujarat

=
%

Question Number : 72 Question Id : 402817472 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



T=HE TR R e e & e B2

Options:

1. = 3cal gear

2 o FET G

3. x HFENg
4 x TN

Question Number : 73 Question Id : 402817473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following books keeps a record of all the endangered animals and plants in the world?
Options:
1. ®# Green Data Book

? % Black Data Book
3. # Yellow Data Book

4« Red Data Book

Question Number : 73 Question Id : 402817473 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

TfofE & ¥ a9 & % # g & wit goavw Segait iR ot & Rets @ s 22
Options:
1 x aﬂ?—rmaﬁ




Question Number : 74 Question Id : 402817474 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following hormones helps the body adjust to stress?

Options:
1. » Thyroxine

? % Insulin

3.« Adrenalin

4. » Oxytocin

Question Number : 74 Question Id : 402817474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R # F Fe T gt a8 F A & o SR w F Few X 3

Options:




Question Number : 75 Question Id : 402817475 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Petroleum and its derivatives are called:
Options:
1. « Black gold

? % Brown gold

3 u Yellow gold

4. » Redgold

Question Number : 75 Question Id : 402817475 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

S 3R sus TR # Far T AT 87

Options:
1. » e T
2w ST EW



Question Number : 76 Question Id : 402817476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the full form of CNG?

Options:

1. » Composite natural gas
2 % Compacted natural gas
3 % Condensed natural gas

4. » Compressed natural gas

Question Number : 76 Question Id : 402817476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

.o, 3 & qur REER #4872
Options:
sl cuﬂgwiﬁﬂ

Ay Ay L
5 FEIEES A i

3 u Fefs AT e

4 o TS ﬁﬁ{oﬂ*ﬂ'ﬁ

Question Number : 77 Question Id : 402817477 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
The nuclear power station of Kalpakkam is located in the state of:

Options:
1. » Rajasthan

? « Tamil Nadu

3. # Andhra Pradesh

4. » Gujarat

Question Number : 77 Question Id : 402817477 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

FHETTFRH A FaAT g ohE Ted H oud 87

Options:

1. =« TIEAH

Question Number : 78 Question Id : 402817478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mughal emperor Aurangzeb died in the vear:
Options:
1. = 1607



? @ 1707
3. % 1705

4. % 1710

Question Number : 78 Question Id : 402817478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T SR HETST H Jeg Fa g A

Options:
1. = 1607
2. « 1707
3 & 1705
A = 1710

Question Number : 79 Question Id : 402817479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Queen Elizabeth I gave a charter to the East India Company to trade with the East Indies in the vear:
Options:
1. «+ 1600

7 % 1604



i

3. % 1610

i

4. = 1611

Question Number : 79 Question Id : 402817479 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T TfoaEy-| & ST =BT FueT #r Fy 9¥ # St =S F Oy S9N S F O UF =l 99
o ar?

Options:
1. « 1600
5 » 1604
3 & 160
A = 1611

Question Number : 80 Question Id : 402817480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Battle of Buxar was fought in the year:

Options:



A & 1764

Question Number : 80 Question Id : 402817480 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

FFEL & g2 ford ¥ w37 T a2

Options:
1. = 1757
2 % 1761
3 % 1763
4. v 1764
Arithmetic Abilityl
Group Number : 5
Group Id: 4028179
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 40281725
Section Number : 1

Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 40281725
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 402817481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is correct?
Options:
1. « All positive integers are natural numbers.

? % Real nmumbers do not include irrational numbers.

3 x ‘Zero isnot part of whole numbers.

2 is not a prime number.

<,

&

Question Number : 81 Question Id : 402817481 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

=T # 8 7 I a9 T8 &7

Options:

4, W geeHEs Ui Srpfae EEA A 2

Dy FEdlae FEAH H FIRAT FEAC AMHA T4l g

3 T ToT FEITHT T Er T B



4. = 2 THh JATST T&IT &l 2

Question Number : 82 Question Id : 402817482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

. ; i & . 3
By mistake, when a given number was multiplied by 5 instead of = the result was 476 more than the correct figure.
Find the correct figure.

Options:
1. « 612

2 % 816

i

3 % 1088

4 = 792

Question Number : 82 Question Id : 402817482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

m@aﬁmé’rﬂﬁrmﬁi#mﬁgﬁqmmﬁmmmﬁqﬁmmuﬁaﬁaﬁﬁﬂe
mﬁmmgmmlﬂﬁrmmcﬁﬁm

Options:

1. » 612
2 = 816
3 x 1088

4. » 792



Question Number : 83 Question Id : 402817483 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A two-digit positive integer and the sum of the two digits are in the ratio 3 : 1. The difference between the digits is 5.
Find the integer.

Options:
1. « 27

? % 38

Question Number : 83 Question Id : 402817483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T& 3 W ATl UH OeAlcH® qUIe 3 AT 3 & TN H A 3 ;1 g1 I & d= FH 5 g
Uit A i

Options:

1. ¢ 27
2 = 38
3. = 49
4. = 83

Question Number : 84 Question Id : 402817484 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A number when divided by 612 gives 30 as remainder. If the same number is divided by 12, what would be the
remainder?

Options:



2
8
~1

(2
#
&0

bb.
$
O

Question Number : 84 Question Id : 402817484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U TEAT & 612 ¥ Renfag #3 9T 9w 30 e g7 §1 TfE SO &I Fr 12 ¥ fFeniera Gar
FT &, O NGBS FIT ZET?

Options:
1. » 6
2w 7

Question Number : 85 Question Id : 402817485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value of *7°.

(320 =-8)+ (765 +15)—7+4 (31 x4)= (1120 +-16) X (111 +37)

Options:

1.« 5



10

-2
&

(2
®
-

11

e
%

Question Number : 85 Question Id : 402817485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘' FHT AT AT ST

(320 = 8) + (765 <+ 15)- 2+ (@1 x 4) = (1120 = 16) x (111 = 37)

Options:

1. #» 5
2 =x 10
3. % 7

Question Number : 86 Question Id : 402817486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value of *7°.

(0.1* + 0.11%) = (02* + 0.22%) =2
Options:
1. v 0.0625



0.033

-2
&

0.067

i
%

4 % 0222

Question Number : 86 Question Id : 402817486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘' FHT AT AT ST

(0174 0.11%) = (0.2%+ 0.22%) =7

Options:
1. » 0.0625
2 % 0.033
3. % 0.067
4. s 0.222

Question Number : 87 Question Id : 402817487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value of *7°.

61+ 24+31+8(5) 6(5)><1 39 =7
4 3 6/ \8 - T

Options:
1.« 0



e al

Question Number : 87 Question Id : 402817487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘' FHT AT AT ST

6>+ 24 + 3§+8(§) - 6@ X
Options:

0l |

~39 =7
1. ¢ O

2 = -15

Question Number : 88 Question Id : 402817488 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
Solve the below equation using the BODMAS rule.

g 30 5 95 7 3 a
:—><—+(—+—)+]—— -
4 & 13 g 3

- of
ig 2 4
Options:

1.« 4



-2
8
It

Question Number : 88 Question Id : 402817488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A9 BT =TT gHEeT Fr sisAE (BODMAS) 3aH &7 9reid 39 g7 #4|

39 a9 30 3 33 7 3 g
—+—X—+(—+—3)+—]——Df—
4 4 i3 9 18 2

Options:

1. ¢ 4

I

Question Number : 89 Question Id : 402817489 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

Two of the twelve boys. who had decided to share the cost of dinner equally, did not turn up for dinner. By what fraction
did the share of each boy increase?

Options:

ui |

1. v



Ul | b3 B |

By | ba

4. s

Question Number : 89 Question Id : 402817489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IIE TSHN o T ST A A9 HT AT T T AT FIA 7 hTelT Har o, 39 F T & AT 33
mﬁﬁ%ﬁﬁﬁ%ﬁwﬁqﬁﬁ?

Options:

E
1. ¢ s
&
2 % 3
2
q =& 5
&
4. & 3

Question Number : 90 Question Id : 402817490 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value of *7°.

(0.39 x 0.39) + (0.23 x 0.23) X (1.24 x 1.24) =7
Options:
1. & 0.25



Question Number : 90 Question Id : 402817490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘' FHT AT AT ST

(0.39 X 0.39) + (0.23 X 0.23) x(1.24 X 1.24) =?

Options:
1. = 025
2 = 050
3. = 0862
4, v 0.16

Question Number : 91 Question Id : 402817491 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following fractions will be 4% from the left in the following series. if the fractions are arranged in the
descending order?



“1 | o

%
4
1| w

i
uy | ka3

4.

Question Number : 91 Question Id : 402817491 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

fraof@a ¥ o7 O @ T gger § ¥ 5% A7 ¥ =i geh, afe @ & swmd &9
& crafeya fFar =mar 272

3 g
7!

- L |
5% 'z o

| R

Options:

9|

1. »

~1 | w

W |k

Question Number : 92 Question Id : 402817492 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A bookseller announced the sale of 4 types of books. i.e. 91 books on fiction, 11 dozen on non-fiction, 10 dozen on craft
and 9 dozen on school textbooks. Two-sevenths, one-sixths, three-fifths and three-fourths respectively of the 4 types of
books were sold immediately. What is the total number of the remaining books?

Options:
1. ¢ 250



2 % 172

A % 288

Question Number : 92 Question Id : 402817492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U EAe fashar 7 4 Y B G 1 TR Fa Fr °ivom @ aveig 91 qFaS HUT dfged W, 11
goid FAN Fifged W, 10 &= AT W 3R 9 To0 Fgaera qFash| 4 TR & JFde HA
aﬁt%gmﬁa:nﬁr[ A GEFPT PT Fol HEIT FT 872

-1 | ba

1
6

| W

?

Options:
1. v 250
5 & 172
4 & 37
4 x 288

Question Number : 93 Question Id : 402817493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a grocery shop, same type of containers for three categories of spices A, B and C are to be stacked category-wise in
identical shelves. The number of containers for A, B and C are 144, 360 and 480 respectively. Find the number of
shelves required for stacking the containers of (i) C, (ii) B and (iii) A.

Options:
1. « (1) 20 (i) 15 (iii) 6



2 5 (1) 15 (i) 8 (iii) 4

3w (1) 18 (ii) 15 (iii) 12

A w (1) 6(il) 15 (iil) 20

Question Number : 93 Question Id : 402817493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v e @ g H, @ ot & FOEl A, B 3R C F T vw ff v F e 1 gAe dear H
Aot 3 AR W@ AT Bl A, B 3R C & v ST F wear FAw 144, 360 AKX 480 B () C (i)
B 3IT (iii) A % T H WA F T 2TF oAl T FEAT AT FIT)

Options:

1 o (i) 20 (ii) 15 (i) 6

2w (i) 15 (ii) 8 (iii) 4

3w (i) 18 (ii) 15 (iii) 12

4w () 6 (i) 15 (i) 20

Question Number : 94 Question Id : 402817494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the smallest number which when increased by 13 is exactly divisible by both 390 and 351.
Options:
1. « 3497



3. % 3947

Question Number : 94 Question Id : 402817494 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

IE O ¥ O & A9 Y owd 13 # 3fF = W 7g 390 3R 351 @ & o Renfea &
ST B

Options:
1. » 3497
5 & 3510
3 » 3947
4 = 4793

Question Number : 95 Question Id : 402817495 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the least number which when divided by 9, 12, 18, 22, 36 and 60 will leave in each case a remainder of 6.
Options:
1. «+ 1986

v

7 % 1896

2

3. % 1698



A % 1734

Question Number : 95 Question Id : 402817495 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

IE O T O T AT Y o 9, 12, 18, 22, 36 3T 60 ¥ BT v W uelE FEe H 99 6
T B

Options:
1. « 1986
2 = 1896
3. = 1698
4. = 1734

Question Number : 96 Question Id : 402817496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the HCF and LCM of two numbers are 9 and 90 respectively and the sum of the numbers is 63, find the sum of their
reciprocals.

Options:

1,1-:?’ =Ty

“] | =



Question Number : 96 Question Id : 402817496 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

ofy & et & 7.8, AR 9.8 wAw 9 A 90 ¢ 3 FEmat F AT 63 B, @ 37 gl @1 AT
AT FIiFT]

Options:
Hy
1. ¢ 2
1

N
g:-
=~ | = =
=}

W
g:‘

:h.
g:-
i
[=]

Question Number : 97 Question Id : 402817497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The product of two numbers is 1920 and their HCF is 8. Which of the following is NOT a possible pair of these
numbers?

(80, 24). (40, 48), (36, 45), (16. 120)
Options:
1. » (36, 45)

9 % (80,24)

(40, 48)

-
%

4 = (16, 120)

Question Number : 97 Question Id : 402817497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ar FEaTa & TuEEd 1920 § 3R 39w AF. 8 ¥l Fela # ¥ Fia 39 g @1 w §ied
IIH 7 87

(80, 24), (40, 48), (36, 45), (16, 120)
Options:

1« (36, 45)

5« (80, 24)

4 % (16, 120)

Question Number : 98 Question Id : 402817498 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

If the length and breadth of a rectangle are increased by 10%o, find the percentage increase in its area.
Options:

1. +v 21%

17%

-2
#

(%]
®
—_
L]
[==]
=

Question Number : 98 Question Id : 402817498 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T TR g Fr wEE AR i F 10% & giE F AT g, O 396 S5%d H i # wigud Ad
F

Options:



1. ¢ 21%

5. & 7%
3. % 13%
4. % 23%

Question Number : 99 Question Id : 402817499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
If the income of T is 120% of the income of S, find the percentage by which the income of S is less than that of T.

Options:
1. « 16.67%

7 % 18.33%

3. % 20%

Question Number : 99 Question Id : 402817499 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

afg T #r 37 S & 317 F7 120% §, aF Jg Iioud 71 Fiev 55 gar S #1370 T & &7 ¢

Options:

1. ¢ 16.67%



2 % 18.33%

3. » 20%

4. = 25%

Question Number : 100 Question 1d : 402817500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the mean proportional between 0.12 and 0.27.
Options:
1. + 0.18

2 % 0.12

%
8
]
f—
N

A % 0.16

&

Question Number : 100 Question Id : 402817500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0.12, 3R 0.27 & AR A H=T|
Options:

1. « 0.18

5. & e



3. » 0.15

4. » 0.16

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

Isthis Group for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :
Section Number :
Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

Arithmetic Ability?2

6
40281710
0

0
No
No
0
20
No
Yes
0

0

Arithmetic Ability?2

40281726
1

Online
Mandatory
20

20

20

1
40281726
Yes

Question Number : 101 Question 1d : 402817501 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25
Ifp:q=2:3.then (3p+4q): (dp—-2q)=7

Options:
1.« 9:1



'QJ
#
eh

Question Number : 101 Question Id : 402817501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T p:q=2:3% @ (3p+4q: (4p-2q) =?

Options:

T o B3
2 ® 853
3. % 758
4 = 5:4

Question Number : 102 Question Id : 402817502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person’s salary is increased at the end of every year by 10% for 4 years. If his salary at the end of gt year is I14.,641,
find his initial salary.

Options:
1. » 10,000

? % <11,500



3 x 39,750

4. = 10,600

Question Number : 102 Question Id : 402817502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U cOTEd T a9d Uede 99 & AT H 4 99 IF 10% FEET 19T g1 o 9 € F 39 F 3uar 394
714,641 §, dr 3FH THIHF 399 AT HITaT]

Options:

1 10,000

2« 11,500
3 x 29,750
4. = 10,600

Question Number : 103 Question Id : 402817503 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The average marks of 10 boys increased by 4 when 4 boys with 40 marks each were removed and 4 new boys were
added to the list. Find the average marks of the 4 new boys.

Options:
1.« 50

? n 48

3.8 44



®
Ln
I

4.

Question Number : 103 Question Id : 402817503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

10 o=t & Hroa 3 F 4 Fr 3T @ &, F9 40 3% T 4 TS F ger @ Far HR 4 Av =
F T A ST AT & 4 FT TSR F AT 3F AT HH

Options:

1. ¢ 50
2 = 48
3w 44
4. = B2

Question Number : 104 Question Id : 402817504 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A person ran 27 km in the first week and an average of 34 km in the next 4 weeks and 64 and 46 km each in last two
weeks. How many km per week did he run on an average?

Options:
1. +v 39km

? % 41km

3. % 40km

4 % 38km

Question Number : 104 Question Id : 402817504 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
U fFd A Ig IaE # 27 B A e 4 ot # simas 34 e sk ifaw o meae # 64
AR 46 TFeT dizar 1 98 979 Taw Awaa aa & gl

Options:
1. » 39 &
D % 41 fRr
3. = 40 e
4. = 38 e

Question Number : 105 Question Id : 402817505 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

In a joint family G is elder to M by 5 years. W is 5 years younger to H. S is younger by 4 years to D whose age is 19. If
the ages of S and H are one-fifth and three-fifths of the ages of G and M respectively find the average age of all the
members of the family.

Options:
1. « 43 years

7 u 45 years

3 % 49 years

38 years

®

<,

Question Number : 105 Question Id : 402817505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



UH HYFA INAN A G, ME 5 a5 asr g1 W, H ¥ 5 a9 oier g1 S, D & 4 a¥ oier g, fowedr amg 19

aﬁé‘taﬁSaﬂTHﬁraﬁrmr:GaﬂTMEﬁra@wmn%ﬁwgafaqm%,a‘rma:mﬁ
TeEdr #r 3Ea g AT F

Options:

1. v 43 &y

2 % 453§

3 % 49 I¥

4. = 383§

Question Number : 106 Question Id : 402817506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An article was marked 10% above the cost price. Due to slump in the market, it was sold at a discount of 20% on the
marked price. Find the profit or loss percentage.

Options:

1. v Loss12%

? % Profit 12%

3. % Loss 10%

4 = Profit 10%

Question Number : 106 Question Id : 402817506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH IE] W 30F HI AT § 10% HOF Jew fed fRaT T on a9 A #E % FNT, 3O3R
He 9T 20% @ T ST 99T TAT AT| A AT B Fiad A HiEw

Options:



1 o @ 12%

2w oH 12%

3 % @ 10%

4. % @ 10%

Question Number : 107 Question Id : 402817507 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

What will be the net loss percentage if the price of an article is reduced twice successively by 20% and then increased
by 25%7

Options:

1. « 20%

? % 25%

Question Number : 107 Question Id : 402817507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofy fredr avg &1 FFT FATE T F & aX 20% T & AT R 3EF A 25% F9r & S0C A 4=
gl widerg &1 gren?

Options:

1. v 20%



2 % 25%

3. % 35%

4. = 30%

Question Number : 108 Question 1d : 402817508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two different articles P and Q whose total cost was T1.800 were sold at the same price. However, P was sold at a loss of
10% and Q at a profit of 10%. Find the cost price of Q.

Options:
1. ¢ TBlO

7 % 3990

3« TL010

4. = 3930

Question Number : 108 Question Id : 402817508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar 37EET-3TeeT awgat P 3R Q et 9 7 #F7 31,800 T, F 38 HAF 9 d90 74T A1) grenfes, P
Fr 10% gifer 3R Q Fr 10% #1e7 9T =7 740 A1 Q F FT Hqed AT HIa0

Options:

1. « 3810

2 % %990



3 & 31,010

4. % 3930

Question Number : 109 Question Id : 402817509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper gave a discount of T60 on the marked price of an article whose cost price was 500 and still sold it at a
profit of 20%. What would have been his profit percentage if he had sold it at the marked price?

Options:

1 o 32%

28%

-
%

Question Number : 109 Question Id : 402817509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF GFEER # UF IE & Hhd Hed T W60 F TT & ¢, HHHr FT HF¥ /00 o7 3T 3WF g o
20% &7 ot HTAd AT §1 A 9F FH TEG F I0hd Hpd W A9dT A IHHT A1 FTaRT FT grar?

Options:

1. v 32%

2w 30%

3. % 25%



4. % 28%

Question Number : 110 Question Id : 402817510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Calculate the corresponding amount of simple interest, if the compound interest on a certain sum at 4% p.a. for 2 years
is T571.20.

Options:
1. ¢ 3560

2 % 3552.40

Question Number : 110 Question Id : 402817510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTLROT =TT & AR FT 06T Y, I TF gl T W 2 99 & [T 4% T8 & W TFge =9
¥571.20 21

Options:

1. « 560
2 & 55240
3w T548.80

4. % 3563



Question Number : 111 Question Id : 402817511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the principal amount if the difference between the amounts of compound and simple interest on the principal is T12
at 2% p.a. in 2 years.

Options:
1. « I30.000

2w 24,000

3w 29.000

4. = T32.000

Question Number : 111 Question Id : 402817511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qorwe UMY A9 AT, o Jgoua | 2 a9 F 5320 #7 2% & ¥ 9od @ 9 Tehgie O 3R
JTUOT =0T & &= a7 T12 T
Options:

1~ 30,000

2« 24,000
3« 229,000
4 % 32,000

Question Number : 112 Question Id : 402817512 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

What will be the difference in the maturity value, if deposits of <7.500 each are made for 2 years at 12% p.a.
compounded annually and at simple interest?

Options:



Question Number : 112 Question Id : 402817512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aftaeaar i # HaT F4r gem, Ifg T7,500 #r ar FAE gAURE F# 2 a9 & v wwgfE s A
|TIOT 01T T 12% 18 &7 T AT 3T Far 872

Options:
1. » 108
2 = TI5
3. = T2
4. = 94

Question Number : 113 Question 1d : 402817513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the maturity value at the end of the second vear, if 36,000 is deposited at the beginning of each year at
10% p.a. compounded annually?

Options:
1. » T13.860



2 u T12,640

3« 14,410

4. = T11.500

Question Number : 113 Question Id : 402817513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g A F AT H qRTFIaT HEg 4T g, ARG 6,000 TeAE IV F T H =aTST Hr 10% IEF &
97 FAT 5T Frar § 3R sue s w9 ¥ gafeE gar 27

Options:

1 » %13,860

2 & 12,640
3 x 14,410
4 % 11,500

Question Number : 114 Question Id : 402817514 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

What will be the cost of plastering the walls and the bottom of a tank, whose length, breadth and height are 18 m, 15 m
and 9 m respectively, at 221 per m??

Options:

1. « <18.144

2 u T19.236



3 w T18,128

4. = T19.576

Question Number : 114 Question Id : 402817514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF &F Fr ARt 3 o Fr o fr @ 4w g, radr wer, 9 i = e 18 #ex, 15
#rex Ay 9 #Hex & T sue & amerg 21 gy #@F §2

Options:

1 o 218,144

2« 19,236
7 . 218,128
4 = 19,576

Question Number : 115 Question 1d : 402817515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When a steel wire is bent in the form of a square, its area is 484 cm?. If the same wire is bent in the form of a circle,
what will be the area of the circle?

22
"= (3)
Options:
1. v 616 cm?

? % 576 cm?

484 cm?

-
%



4 % 518 cm?

Question Number : 115 Question Id : 402817515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T TF TS & a F ASHT Tk F97 1T AT ¢, af SHeRT 896 484 WA wIeg giar g1 Ifg =ar
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T

Options:

1. » 616 TA?
2 x 576 ®A?®
3 x 484 TAX

4. « 518 A

Question Number : 116 Question Id : 402817516 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The maximum possible circular area is shaded inside a square of side 28 cm. Approximately, what percentage of the
square is the unshaded portion?

N (22)
T
Options:

1. v 21.4%

7 % 24.1%

3. % 142%



4 = 18.6%

Question Number : 116 Question Id : 402817516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v 21.4%

2 % 241%
3. % 14.2%
4. % 18.6%

Question Number : 117 Question Id : 402817517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The perimeter of a square is the same as that of a rectangle whose length and breadth are in the ratio 7 : 5. If the breadth
of the rectangle measures 30 m, then find the difference in their areas.

Options:
1. v 36 m?

? % 48 m?

A % 96 m?



Question Number : 117 Question Id : 402817517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T F INAT TF HAG F TA ¢, Srwer wars A’ =i w7 wgaa 7 0 6 g1 afg g o =hEw
30 #Her AT FET &, a 39 9% H FaT AT H

Options:
1. v 36 &
D x 48 P
3. % 72 #P
4. = 96 F?

Question Number : 118 Question Id : 402817518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A ftrain leaves the place P at 11.45 a.m. and runs at an average speed of 64 kimvh towards the place Q. Another train
leaves Q at 12.15 p.m. and runs at an average speed of 72 kmv'h towards P. If they meet each other at 1.30 p.m.. find the
distance between P and Q.

Options:
1. ¢ 202km

? % 174 km

3 % 112km

158 km

e
%

Question Number : 118 Question 1d : 402817518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TF (RSN P 91 11.45 5= U BT ¥ Feodr § 3R ' Q Fr 36w 64 BAv"er Fr stea me @
T B T T TS Q ¥ AT 1215 5= e R Ak P Fraw 72 vmer A dlwma e ®
T #1 A T PR 1.30 9 TH gy @ e & A P 3R Q F §9 i g 7= F

Options:

1. v 202
2. % 174
3. % 112 &
4. % 158

Question Number : 119 Question Id : 402817519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pump P can fill a tank in 2$ h and Pump Q can fill the same tank in 1% h. Three-fifths of the tank is already filled up. If
P and Q start filling the rest of the tank at 7.52 a.m.. when will the tank become full?

Options:

1. + 8.12am.

? % 8.07 am.

3. # 8.l15am.

4 % 823am.

Question Number : 119 Question Id : 402817519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

95T P UF &F Fr 22 ﬁ#mm%mmamhaﬂl—mﬁmm?:éﬁm_ fezar
qg??rﬁﬁrsmgm%iaﬁPsﬂwQaﬁhﬁm?szaﬂrﬂmamm% ar &F F§ U W
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Options:



1. v 9= 8.12

2 % S 8.07

3.« Wi 8.15

4. % ST 8.23

Question Number : 120 Question Id : 402817520 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A boat takes | h less to travel 24 km downstream than to travel the same distance upstream. If the speed of the boat in
still waters is 10 kmv/h, find the speed of the stream.

Options:
1. v 2km/h

? ® 3kmh

3 % L5kmh

Question Number : 120 Question Id : 402817520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T AT ORT B ged feem # 24 GRr #Fr gt 99w # o & sfoge G 7 57 & g aw
FH Y 1 92 &7 AT o 71 I o9 I« & F= #r T 10 FHEvger £, 9 ariw & = F@g ffEw

Options:

1. ¢ 2 Bawer



2 « 3 BdavEer

3. % 1.5 BraveEer

4. = 2.5 BHEEer
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Question Number : 121 Question Id : 402817521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which one of the following options means the same as the highlighted phrase below:

She heard of his offer to buy her business, but told him that she would sleep on it before she decided.
Options:
1. % She wanted to sleep.

? « She wanted to think about the offer a little more

3 % She wanted to be alone as she was tired.

/. » Shewas fed up of offers for her business.

Question Number : 121 Question Id : 402817521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following options means the same as the highlighted phrase below:

She heard of his offer to buy her business, but told him that she would sleep on it before she
decided.
Options:

1. % She wanted to sleep.

7 « She wanted to think about the offer a little more

3. % She wanted to be alone as she was tired.

4. « She was fed up of offers for her business.

Question Number : 122 Question Id : 402817522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which one of the following options means the same as the highlighted phrase below:

Vijay Mallya never stayed under the radar while running his many businesses.
Options:
1. % He bought over airport radars.

2 w Hestayed close to Air Traffic control towers.

3 . He could not stop himself from attracting notice.

/4 = His businesses were all about radars.

Question Number : 122 Question Id : 402817522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following options means the same as the highlighted phrase below:

Vijay Mallya never stayed under the radar while running his many businesses.
Options:
1. « He bought over airport radars.

2 « He stayed close to Air Traffic control towers.

3 He could not stop himself from attracting notice.

4. = His businesses were all about radars.

Question Number : 123 Question Id : 402817523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the given word.

LAVISH
Options:

1. = Slave

? « Luxurious

3. % Colourful

4. » Creamy

Question Number : 123 Question Id : 402817523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

LAVISH

Options:

1. = Slave

7 « Luxurious

3. w Colourful

4. = Creamy

Question Number : 124 Question 1d : 402817524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the given word.

CRITICAL
Options:
1. % Criticising

? « Safe

3 x Unnecessary

4. » Judgmental

Question Number : 124 Question Id : 402817524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

CRITICAL

Options:
1. = Criticising

7 « Safe

3 & Unnecessary

A, » Judgmental

Question Number : 125 Question Id : 402817525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the given word.

ABSURD
Options:

1. ® Ludicrous

7 % Crazy

3. % Ridiculous

4« Reasonable

Question Number : 125 Question Id : 402817525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

ABSURD

Options:

1. = ludicrous

2 « Crazy

3. = Ridiculous

S

4. reasonable

Question Number : 126 Question Id : 402817526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the given word.

LOOSE
Options:
1. = Watery

2 x Tlight

3 4 Rigid

4. « Slack

Question Number : 126 Question Id : 402817526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

LOOSE
Options:

1. = Watery
2 « [Tight
3. « Rigid
4. « Slack

Question Number : 127 Question Id : 402817527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate options to fill in the blank.

car is parked so close to 7" she snapped at the guards.
Options:
1. = This; this

?  Whose: mine

3 % What: which

4. w» Is; that

Question Number : 127 Question Id : 402817527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate options to fill in the blank.

car is parked so close to ?" she snapped at the guards.
Options:

1. = This; this

2  Whose; mine

3.« What; which

4. « Its; that

Question Number : 128 Question Id : 402817528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate options to fill in the blanks.

= mother is out of mind.” my father told me angrily.
Options:
1. « Your: her

7 % His: his

3 » Which: its

4. w This; your

Question Number : 128 Question Id : 402817528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate options to fill in the blanks.

mother is out of mind,” my father told me angrily.
Options:

1. « Your; her

2 «x His; his

3. %  Which: its

4. = This; your

Question Number : 129 Question Id : 402817529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option to fill the blank in the following sentence:

I want flowers to be given to that girl.
Options:

1. = their

? « these

3. # themselves

4] = what

Question Number : 129 Question Id : 402817529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option to fill the blank in the following sentence:

| want flowers to be given to that girl.
Options:

1. = their

? « these

3w themselves

4. = what

Question Number : 130 Question Id : 402817530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the options to fill the blanks in the following sentence:

started the rumour is the mastermind of scant.
Options:
1. v+ Whoever: that

27 Which: yours

3' % What: that

4. = Whom: those

Question Number : 130 Question Id : 402817530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the options to fill the blanks in the following sentence:

started the rumour is the mastermind of scam.
Options:

1. «» Whoever; that

2 & Which; yours

3. % What; that

4. « Whom; those

Question Number : 131 Question Id : 402817531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the appropriate word to complete the sentence:

The earthquake affected a large of the Himalayan foothills.
Options:

1. = bit

? % room

3. « extent

4] =% more

Question Number : 131 Question Id : 402817531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the appropriate word to complete the sentence:

The earthquake affected a large of the Himalayan foothills.
Options:
1. = bit

2. % room

3w extent

4. & more

Question Number : 132 Question Id : 402817532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the appropriate word to complete the sentence:

Both the airstrips at Mumbai will be closed during the afternoon for
Options:

1. & renovate

? % birds

3 . lepairs

A = sides

Question Number : 132 Question Id : 402817532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the appropriate word to complete the sentence:

Both the airstrips at Mumbai will be closed during the afternoon for
Options:

1. = renovate

2. = birds

3 repairs

4. = sides

Question Number : 133 Question Id : 402817533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The passage consists of six sentences. The first and sixth sentences (S1 and S6) are in the correct order; but the four
sentences in the middle (P, Q. R, S) are jumbled up. Find out the proper order of the four sentences.

S1. Shatrughan Sinha said: "I am not making fun of the #Me Too movement. Don't take it otherwise. Do take it with a
sense of humour.”

P. “Tt's a book launch event and we should not cross our limits.”

Q. “Believe me. I highly appreciate and applaud the women, who, better late than never. have come forward. I salute
their courage and guts.”

R. Sinha had previously told IANS that the #Me Too movement has been *blown out of proportion’.
S. “But having said this, I understand what you are saying and I am highly supportive of what you said." he added.

S6. He had stated that he would work with the accused director Subhash Ghai even if allegations against him were
proved to be true.

Options:
1. » QBS,R

9 % RS,.QP

3 % PQRS

4 v QS.RP

Question Number : 133 Question Id : 402817533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The passage consists of six sentences. The first and sixth sentences (S1 and $S6) are in the
correct order; but the four sentences in the middle (P, Q, R, S) are jumbled up. Find out the
proper order of the four sentences.

S1. Shatrughan Sinha said: "l am not making fun of the #Me Too movement. Don't take it
otherwise. Do take it with a sense of humour.”

P. “it's a book launch event and we should not cross our limits.”

Q. “Believe me, | highly appreciate and applaud the women, who, better late than never, have
come forward. | salute their courage and guts.”

R. Sinha had previously told |IANS that the #Me Too movement has been ‘blown out of
proportion’.

S. “But having said this, | understand what you are saying and | am highly supportive of what you
said," he added.

S6. He had stated that he would work with the accused director Subhash Ghai even if allegations
against him were proved to be true.

Options:

1. = Q P, SR

Question Number : 134 Question Id : 402817534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Given below are six sentences. The first and the sixth sentences (S1 and S6) are in the correct order, while the four
sentences in the middle (P, Q, R, S) are jumbled. Find out the proper order of the four sentences.

S1. Even if this is an election year. the story has been the same for a long time now.
P. But equally, it is also a reality that India lives in a precarious neighbourhood with two hostile nuclear powers.

Q. It is tough to make a case for higher defence allocations without hiving-off resources from some other programmes,
which, too. require urgent funds.

R. The reality is that India is a developing country with multiple competing demands over scarce capital.
S. One aims to be a global hegemon and the other is a breeding ground for terrorists.

S6. So what can be done?
Options:

1. » RES,Q

9 o RQPS

3 % BS,RQ

4.+ SQRP

Question Number : 134 Question Id : 402817534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Given below are six sentences. The first and sixth sentences (51 and 56) are in the correct
order. The four sentence in the middle (P, Q, R, 5) are jumbled. Find out the proper order of the
four sentences.

S1. Even if this is an election year, the story has been the same for a long time now.

P. But equally, it is also a reality that India lives in a precarious neighbourhood with two hostile
nuclear powers.

Q. It is tough to make a case for higher defence allocations without hiving-off resources from
some other programmes, which, too, require urgent funds.

R. The reality is that India is a developing country with multiple competing demands over scarce
capital.

S. One who aims to be a global hegemon and the other is a breeding ground for terrorists.

56. So what can be done?
Options:

1. = R P, 5 Q

Question Number : 135 Question Id : 402817535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the meaning of the highlighted idiom.

Bob could sit and chew the fat with me for hours.
Options:
1. « To gossip or have friendly talks



2 w Tohave tea or coffee together

3 % Toargueona topic

4 % To discuss a serious business matter

Question Number : 135 Question Id : 402817535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the meaning of the highlighted idiom.

Bob could sit and chew the fat with me for hours.
Options:

1. » To gossip or have friendly talks

2 « To have tea or coffee together

3.« To argue on a topic

4. = To discuss a serious business matter

Question Number : 136 Question 1d : 402817536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

SERIOUS
Options:
1. » Important



? % Series

3 % Significant

4 « Half-hearted

Question Number : 136 Question Id : 402817536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

SERIOUS

Options:
1. % Important

7w Series

3. & Significant

4. « Half-hearted

Question Number : 137 Question 1d : 402817537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the most appropriate option to fill in the blank:

This second victory, the one in Australia, has given Kohli an unbeatable edge.
Options:

1. % in



2  following

3. = for

4] % before

Question Number : 137 Question Id : 402817537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the most appropriate option to fill in the blank:

This second victory, the one in Australia, has given Kohli an unbeatable edge.
Options:
1. = in

2 o following

3 = for

4. = before

Question Number : 138 Question Id : 402817538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that gives the correct singular form of the word.
Options:
1. # Knives

? % Shelves



3. % Boards

4. « Ladle

Question Number : 138 Question Id : 402817538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that gives the correct singular form of the word.

Options:

1. = Knives

2. % Shelves
3 % DBoards
4. « Ladle

Question Number : 139 Question Id : 402817539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that gives the correct plural form of the word.
Options:
1. « Sheep

2 w Sheeps

3 % Sheepes

/. » Sheepess



Question Number : 139 Question 1d : 402817539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that gives the correct plural form of the word.

Options:
1. » Sheep
2 % Sheeps

3 & Sheepes

A x Sheepess

Question Number : 140 Question 1d : 402817540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:
1. « He did not wait for the crisis to escalate any more.

? w He has not wait for the crisis to escalate any more.

3 u Hels not waited for the crisis to escalate any more.

4. % He did not wait for the crisis to escalates any mores.

Question Number : 140 Question Id : 402817540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:



1. » He did not wait for the crisis to escalate any more.

2 & He has not wait for the crisis to escalate any more.

3« He is not waited for the crisis to escalate any more.

4. » He did not wait for the crisis to escalates any mores.
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Question Number : 141 Question Id : 402817541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:
1. « Itis believed that the Seer had extraordinary powers and used them to help his followers.

2 % Its belief that the Seer had extraordinary powers and used them to help his followers.

3 Itis believed that the Seer is extraordinary powers and used them to help his followers

/. % Itisbelieved that the Seer has extraordinary powers and used it to helps his followers.

Question Number : 141 Question 1d : 402817541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.

Options:
1. «»

It is believed that the Seer had extraordinary powers and used them to help his followers.

2. =

lts belief that the Seer had extraordinary powers and used them to help his followers.

3. %

It is believed that the Seer is extraordinary powers and used them to help his followers

4., =

It is believed that the Seer has extraordinary powers and used it to helps his followers.

Question Number : 142 Question Id : 402817542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the substitute word which best replaces the sentence fragment below without losing any meaning.

A place where one lives permanently
Options:
1. » Hospital

? « Domicile

3. % Home

A % Tent

Question Number : 142 Question 1d : 402817542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the substitute word which best replaces the sentence fragment below without losing any
meaning.

A place where one lives permanently
Options:
1. « Hospital

7« Domicile

3 % Home

4. = Tent

Question Number : 143 Question Id : 402817543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the substitute word which best replaces the sentence fragment below without losing any meaning.

One who journeys to offer prayers at a holy place
Options:
1. & Tourist

2 o Pilgrim

3w Traveler

4 = Journalist

Question Number : 143 Question Id : 402817543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the substitute word which best replaces the sentence fragment below without losing any
meaning.

One who journeys to offer prayers at a holy place

Options:

1. % Tourist

2 » Pilgrim

3. = Traveler

4. % Journalist

Question Number : 144 Question Id : 402817544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the most appropriate options to fill in the blank.

I was very shy my school years.
Options:

1. & from

? ® with

3 . throughout

4 % underneath

Question Number : 144 Question Id : 402817544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the most appropriate options to fill in the blank.

| was very shy my school years.

Options:

1. = from

2. = with

3 throughout

4. = undemeath

Question Number : 145 Question Id : 402817545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the most appropriate option to fill in the blanks :

The project fell through, as it was handled by the Project Head.
Options:

1. & messy

? % bad

3 . carelessly

A = facile

Question Number : 145 Question Id : 402817545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the most appropriate option to fill in the blanks :

The project fell through, as it was handled by the Project Head.
Options:
1. « messy

2 = bad

3  carelessly

4. =« facile

Question Number : 146 Question Id : 402817546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the most appropriate option to fill in the blank.

There is no improvement in my health, he said.
Options:

1. = all

? % total

3 . significant

4 = different

Question Number : 146 Question Id : 402817546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the most appropriate option to fill in the blank.

There is no improvement in my health, he said.
Options:

1. = all

2 = total

3 significant

4. = different

Question Number : 147 Question Id : 402817547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the most appropriate option to fill in the blank.

He went to the barber and himself a crew-cut.
Options:

1 % get

? w £0

3 o got

] s« going

Question Number : 147 Question Id : 402817547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the most appropriate option to fill in the blank.

He went to the barber and himself a crew-cut.
Options:

1. = get

2 = 90

7 P got

A. « going

Question Number : 148 Question Id : 402817548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate preposition to fill in the blank.

The cats hid the bed all night.
Options:

1. + underneath

? % to

3w with

] = for

Question Number : 148 Question Id : 402817548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate preposition to fill in the blank.

The cats hid the bed all night.

Options:

1. « undemeath

2. & b
3. % with
4. = for

Question Number : 149 Question Id : 402817549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate verb form to fill in the blank.

I am tired of in front of the computer all day.
Options:

1. = sat

2 o sitting

3w sit

4] = sits

Question Number : 149 Question Id : 402817549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate verb form to fill in the blank.

| am tired of in front of the computer all day.
Options:

1. = sat

2 » sitting

3w sit

4. =« sits

Question Number : 150 Question Id : 402817550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the most appropriate options to fill in the blanks.

I will not go to the game my classmates their families also join us.
Options:
1. « unless: and

7 % and: but

3 x neither: so

4 = neither: nor

Question Number : 150 Question Id : 402817550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the most appropriate options to fill in the blanks.

| will not go to the game my classmates their families also join us.
Options:

1. « unless; and

2 & and; but

3. & heither; so

4. % neither; nor

Question Number : 151 Question Id : 402817551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Identify the word that is wrongly spelt.

*“We must reject the politics of revenge, resistance, and retribution—and embrace the boundless potential of coperation,
compromise, and the common good,” Trump said at one point.

Options:
1. # Retribution

? . Coperation

3 u Compromise

4 % Politics

Question Number : 151 Question Id : 402817551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the word that is wrongly spelt.

“We must reject the politics of revenge, resistance, and retribution—and embrace the boundless
potential of coperation, compromise, and the common good,” Trump said at one point.

Options:

1. = Retribution

2 Coperation

3. &« Compromise

4. = Politics

Question Number : 152 Question 1d : 402817552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the most appropriate option to fill in the blank.

They were unaware that a bitter war was being waged just miles away from their hotel.
Options:

1. & not

2 blissfully

3. = little

A % Qquiet

Question Number : 152 Question Id : 402817552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the most appropriate option to fill in the blank.

They were unaware that a bitter war was being waged just miles away from their hotel.
Options:

1. = not

2 o Dblissfully

3 = little

4. « quiet

Question Number : 153 Question Id : 402817553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the given word.
VAGRANT
Options:

1. # Aimless

? « Nomad

3. % Winner

4] = Settled

Question Number : 153 Question Id : 402817553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

VAGRANT

Options:

1. = Aimless

7 « Nomad
3. % Winner
4 = Settled

Question Number : 154 Question Id : 402817554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the most appropriate option to fill up the blank.

The Kashmiri spread out on the living room floor had all the colours of the rainbow.
Options:

1. « carpet

2. » boy

3w terrorist

4 = border

Question Number : 154 Question Id : 402817554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the most appropriate option to fill up the blank.

The Kashmiri spread out on the living room floor had all the colours of the rainbow.
Options:
1. » carpet

2 x boy

3. u terrorist

4 = Dborder

Question Number : 155 Question 1d : 402817555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the given word.

SECRET
Options:

1. ® Hidden

7 % Story

3 v Open

4. =% Huddle

Question Number : 155 Question Id : 402817555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

SECRET
Options:

1. = Hidden
2 x Story
3. » Open
4 = Huddle

Question Number : 156 Question Id : 402817556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to fill in the blank.

No sooner had we heard the noise
Options:
1. % so we rushed to the spot

2 . thanwe rushed to the spot

3 % When we rushed to the spot

4. » and we rushed to the spot

Question Number : 156 Question Id : 402817556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

No sooner had we heard the noise
Options:

1. = so we rushed to the spot

2 » than we rushed to the spot

3 % When we rushed to the spot

4. % @and we rushed to the spot

Question Number : 157 Question Id : 402817557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to fill in the blank.

Scarcely had I reached the station
Options:

1. # than the train arrived

? % therefore the train arrived

3« when the train arrived

4 = and the train arrived

Question Number : 157 Question Id : 402817557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

Scarcely had | reached the station

Options:

1. % than the train arrived

7 u therefore the train arrived

3.« when the train arrived

4. = and the train arrived

Question Number : 158 Question Id : 402817558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate preposition to fill in the blank.

Heavy snowfalls brought chaos to parts of Germany and Sweden
and schools shut.

Friday. leaving roads blocked. trains halted

Options:

1. & into

2. % in

3.« on

4 = from

Question Number : 158 Question Id : 402817558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate preposition to fill in the blank.

Heavy snowfalls brought chaos to parts of Germany and Sweden Friday, leaving roads
blocked, trains halted and schools shut.
Options:

1. = into

4. » from

Question Number : 159 Question Id : 402817559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate prepositions to fill in the blanks.

Every Christmas Eve, hundreds of people all over the world gather outside the octagonal-shaped chapel
Oberndorf, Austria, to sing Christmas carols.

Options:
1. % in: from

? u from:on

2w in: before

4]  from:in

Question Number : 159 Question 1d : 402817559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate prepositions to fill in the blanks.

Every Christmas Eve, hundreds of people all over the world gather outside the octagonal-
shaped chapel Oberndorf, Austria, to sing Christmas carols.
Options:

1. = in; from

2 « from; on

3. % In; before

4. » from; in

Question Number : 160 Question Id : 402817560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate dependent clause to fill in the blank.

. she started working on the next.

Options:
1. » When she finishes one project

2 w No sooner did she finished one project

3 % Hardly she finished one project

4. » Assoon as she finished one project

Question Number : 160 Question Id : 402817560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate dependent clause to fill in the blank.

, she started working on the next.
Options:
1. %« When she finishes one project

2 & No sooner did she finished one project

3« Hardly she finished one project

4. » As soon as she finished one project
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Question Number : 161 Question Id : 402817561 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

19 ¥ U &7 O Ueg, dagd 87

Options:

Question Number : 161 Question Id : 402817561 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25



e & O T @ = 957 272

opions:
1. = dfed
D & uRwE
3. v o4
4. % oo

Question Number : 162 Question Id : 402817562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T S 91 s dgd el o2

Options:

Question Number : 162 Question 1d : 402817562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T & @ #iF 3 e T57 Fer 87

Options:

1. = =



Question Number : 163 Question 1d : 402817563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEE IO I adH &2

Options:

4, » TR

Question Number : 163 Question Id : 402817563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o # ¥ FiF T o= IF7F &7

Options:

1. = e



Question Number : 164 Question Id : 402817564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U Y oH 9 I d8H Tl 22

Options:

1. v A

Question Number : 164 Question Id : 402817564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o # @ 7 I o I=TH Far 87

Options:
1. » 30
2 ® ™



Question Number : 165 Question Id : 402817565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g H 9 DH 91 Usg G 82
Options:

1. = Sl&R

2.« Sl

Question Number : 165 Question Id : 402817565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T 7 ¥ +iF I aeg 3=a8H 87

Options:
1. = 3@
2. v IR
3. % I
4, = 3G

Question Number : 166 Question Id : 402817566 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

g H Y S T Ys8 oxW 22
Options:

1. » A

Question Number : 166 Question Id : 402817566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o 7 O =7 I o= 7 &7

Options:
1. v R
2w gEd
- A
4. « HEA

Question Number : 167 Question Id : 402817567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U Y oH I Uss fGexf &

Options:




Question Number : 167 Question Id : 402817567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o 7 O =iF I e Tt 82

Options:

1. = &R
2 & 3

3. v de<r
4. « WL

Question Number : 168 Question Id : 402817568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U Y oF 9 I faeefi e 82

Options:

1. & Siad




4. v TR

Question Number : 168 Question Id : 402817568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 ¥ FiF T e & a8 872

Options:
1. = 3
7. % AT
3. & el
4. ¢ TS

Question Number : 169 Question Id : 402817569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tt T Y fa=se ghm:
Options:

1. » S U



Question Number : 169 Question Id : 402817569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘oA’ H I 9= e m:
Options:
1. v Hd+ 3

2 w Hd + S«

3 x WA+ IH

4. « B + FA

Question Number : 170 Question Id : 402817570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FATe: § HIF I 999 &2

Options:

1. » /90 HE

3. G



4, » 167

Question Number : 170 Question Id : 402817570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FETTE F HiT T FHT 87

Options:

1. &« 3Heodr 99
2, v 93

3. & 9398

Question Number : 171 Question Id : 402817571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRy (5T TPR B G712

Options:

4. « HIAdIdDh

Question Number : 171 Question Id : 402817571 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

T FE gER # HaT §?

Options:

1. = cAEqaES
2« SiaarEs
3. « TEIYETEH

Question Number : 172 Question Id : 402817572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qpiar &9 UeR o1 famur g2

Options:

1. » AAHS

7 % ORAUFYS

i

e
%

Question Number : 172 Question Id : 402817572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘gﬁﬂf%maﬂﬁﬁmé‘?

Options:



Question Number : 173 Question Id : 402817573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

75 7 9 tRundes fohar 1= 9t g2

Options:

1. » Heldl

4. T

Question Number : 173 Question Id : 402817573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o= & @ wonds B i d@ 27

Options:
1. » o=



A w  eeT

Question Number : 174 Question 1d : 402817574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gg A1 82

Options:

Question Number : 174 Question Id : 402817574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘qg’ w4 2?
Options:
1. = @

2 % [Ewor



Question Number : 175 Question Id : 402817575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JUHERr H {6 SUTH] &1 UGN g2l 82
Options:

1. &= 3
2. v 34
3. % 99

Question Number : 175 Question Id : 402817575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘mﬁ#ar’ﬁ%mﬁmmgmﬁ?

Options:
T. ® 3
2. v 3



Question Number : 176 Question Id : 402817576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fearer o ford uerd &1 wanT gl 82

Options:

Question Number : 176 Question 1d : 402817576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ﬁa@“ﬁﬁmmmmgaﬂ%?

Options:



Question Number : 177 Question Id : 402817577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT frgs uafgardt 22

Options:

1. = %

Question Number : 177 Question Id : 402817577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e Baer gaTEET 87

Options:
1. = ¥°%
2. v @
3. % W
4, = FE

Question Number : 178 Question 1d : 402817578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEfRad ¥ 9 $F 91 ¥ - HIHRT &I 9ghar| 82

Options:



Question Number : 178 Question 1d : 402817578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ta@a # 9 Fi9 I o= ‘HFHEr F 99IaE=T 87

Options:
1. x o
2.« TEA
3 o @\
4, « At

Question Number : 179 Question Id : 402817579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FfeiRad 7 9 & 91 Wsq -fhur &1 g T8l 82
Options:

1. v @A



Question Number : 179 Question Id : 402817579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafofea & & #ia @1 weg Bor & qaEEEr 76 27

Options:
1. v SR
5 = Y
3. » W=
A o« 9T

Question Number : 180 Question Id : 402817580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g {5 gggard g2

Options:



Question Number : 180 Question Id : 402817580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o g qageEET 87

Options:
1. » HEA
2- %
3- &
4 v |
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Section Id : 40281730

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 40281730
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 402817581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFofifEea § 9 &1 91 Yse A5k &1 uaigaE! g2

Options:

Question Number : 181 Question Id : 402817581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tae@a 7 ¥ #iF I@1 o ‘J@6r &7 gIIaET 87

Options:

1. » aRon

2. x dfaar



3. » FRa

Question Number : 182 Question Id : 402817582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFEffEa & O &1 91 ¥s - 2iedy &l Uel [daH g2

Options:

1. « 9
Z,JW
3. » °N

4, « R

Question Number : 182 Question Id : 402817582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TaRa # ¥ 9 a1 ug ‘39 F1 gE TEE 2

Options:




Question Number : 183 Question Id : 402817583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FafRad & 9 ®IF 91 s -G &I [9dm g2

Options:

1. v a9

Question Number : 183 Question Id : 402817583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fmafea & @ #i 71 weg ‘3qa & Taw 27
Options:

1. v Taw

2 w W

3. % 3Joodd

Question Number : 184 Question 1d : 402817584 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
fRrT g faam wse 82

Options:

4, v S

Question Number : 184 Question Id : 402817584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Taer Oge eEH e B°

Options:
1. & B
2. % SO

Question Number : 185 Question Id : 402817585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

wfaea: feus faam 2es 22

Options:



Question Number : 185 Question Id : 402817585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sfaper foraer fes g 272

Options:

Question Number : 186 Question Id : 402817586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I § U E Ue] A1 el o) fafad ST B 39 $ed 8°

Options:

1. &= SAHIBI



Question Number : 186 Question Id : 402817586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H FgFT T AT oreal Hr AfEa wumer #F F74r FEd 82

Options:

1. = 3epror

2 & OEIAT
3. v #H
4, v TSN

Question Number : 187 Question Id : 402817587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e ¥ HI IRr {59 UeaY H1 360 2

Options:

2. x GATHUGSY



3 x [haTUGEH

4. » TaRNU UEsyY

Question Number : 187 Question Id : 402817587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g ¥ o v T vgey FT 3EEIor 7

Options:

1. » G« 9gawd

2w TIATH TEEeY

3. « [FOT 9gmey

4. » FAwor ggsey

Question Number : 188 Question Id : 402817588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

¥ 78I 9T fh 98 Fgl o I199 H T8 Pal o [hY UbR P 39dIdd 82
Options:

1. » SRITIUATH

7 % (42N 3YaI

3.« fohaT3udr



4. « Tobur fa=iwu Iuarey

Question Number : 188 Question Id : 402817588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

H 72T FAaT F 3§ Far & I=T H TF FFT ¢ FF TFR F 399 27

Options:

1. v =T 39

2 % Ewur IuaeT

4. « Trar Eewor 39aey

Question Number : 189 Question Id : 402817589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 & SR a1 fohd- Wb R &1 Bl &7

Options:

1. =

B

2. % 4

Question Number : 189 Question 1d : 402817589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HY F FFER T fFaa FHRT F gar g2

Options:
1. = 2
2 = 4

Question Number : 190 Question Id : 402817590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T AT fFY YHR ST a1 22

Options:

1. = SUdE

7. W0 dId

Question Number : 190 Question Id : 402817590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘OTeT 97ETI T 9 & 9T 27

Options:




2_@' Hicl 9T

3 x Ay o=

4. = Hf_i":hd CIER?

Question Number : 191 Question Id : 402817591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T4 el grN |* [y USHR &1 a/dd 82

Options:

1.\-;*“3%331335

2 % Y®MAIdP

Question Number : 191 Question Id : 402817591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘H Fgr 2’ T 9T F ST g7

Options:

1. » Wegar=s




3.« 9FIEH

[
4. w TEEHEIEES

Question Number : 192 Question 1d : 402817592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UGeHH 31 2P 9 I 91 a1 UG 82

Options:

1 = HIET B 1o |

9 HigT T HISH foha |

4. % HISH HigT A o |

Question Number : 192 Question Id : 402817592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ueHA HT TRE T FiT T AFT YL 7

Options:

2w S foRar AT A



3. » HEd F #ea G

4« ST AT 7 T |

Question Number : 193 Question Id : 402817593 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3y & <P Y B 91 a1 UG 82

Options:

1. = TR-—ARIT
7w R —AARITT
3 x R-ARITIN

4. v R

Question Number : 193 Question Id : 402817593 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Heag I F T A AT YL 22

Options:

1. = & - AR 78

2 % @ - FARY A

3. % W - AR T4



4. » - A T

Question Number : 194 Question Id : 402817594 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9 7 9 {59 2eg 31 91 UG &2

Options:

4, « T

Question Number : 194 Question 1d : 402817594 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 7 @ 5w weg & T gE B

Options:
1. = #AQ
2.« R

Question Number : 195 Question Id : 402817595 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

9 & 9 {59 21ag &1 adHl o 82

Options:

1. & Sld¥YD

9 o Guligh

4.« 3IHY

Question Number : 195 Question Id : 402817595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et 7 @ BFE e @1 T E 872

Options:

1. & HEWTF

2. Fedigh

Question Number : 196 Question Id : 402817596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

% 7 1 T Tec 7 U1 Tl # BielT &2

Options:



Question Number : 196 Question Id : 402817596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. v @&
2. & drehdr
3. « o4
4, w T

Question Number : 197 Question Id : 402817597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = &R
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Question Number : 197 Question Id : 402817597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25
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Options:

1. = &W
2. v G
3. & CE®

Question Number : 198 Question Id : 402817598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. » TR - 3HOHR] Usq
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Question Number : 198 Question Id : 402817598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = N - ARFERT o0

2w HEENRr weg - HeT

3. o HT - HEERT U

4. % TEIY - H9eHT

Question Number : 199 Question 1d : 402817599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.« ERP[@E[
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Question Number : 199 Question Id : 402817599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. v TO&
2. % 9cuay
3. » T
4. = 3f@T

Question Number : 200 Question 1d : 402817600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1, « GBI
9w SIS B

4. v S uIRGg ¥ SIeA

Question Number : 200 Question Id : 402817600 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
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Options:

1, s T

2w HcHEAT el

3w HIEH ger
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